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Code : 241105 <O~
' fc] Use the following phrases to form

B.Tech 1st Semester Exam., 2014 ¢ ~ sentences .
§ Pull someone’s leg
COMMUNICATIVE ENGLISH D Tvsoficed - -
Time : 3 hours =~ Full Marks : 70 . 05 sfd} Which of the following is odd man out of
Instru.cuons k N o the group?
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iii) Attempt FIVE questions in all.
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{g)  Fill in the blanks with the correct form
of verbs given in brackets :
{i) He often —{go) shopping on the
weekend.

fii) My sister —- (work) as a waitress.

_{iiij Tom’s not here, He is out —— (visit}
_his mother.

(w) Do you still — (belong) to the
Tennis Club? R
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for the fol}pwing

2x7=14 |
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"~ 4. Make sentences to bring out the difference
between the. following pair of words :  2x7=14

fa) -affect, effect

'(b) accept, except

(¢} . altar, alter

o) break, brake .‘
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7. Give a technical description of the following

devices in 200 words : 7+7=14

“a} Computer
Nb), Xerox machine

8. Pick out the error in each part of the

following sentences and correct them : 2x7=14

Reading comprehension require an ability to
understand {a) —

the meaning of what is put forth as well as
T the competent (b} ——

- - to express it clearly. The meaning for a
- ‘ . continuous piece {c) _—
of wﬁting is not. merely a sum-total of the
_ fheanings (d) —
words that constitute it. It
‘ nsist of the (e}
and the intention
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